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Unit: Proportional Relationships
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PROPORTIONAL RELATIONGHIPS: GRAPHS

[sabelle walks fo work each morning. It takes her 5 minutes
to fravel one city block. Use this information to complete a-b.

a. Sketch a graph to show the number of blocks Isabelle

can travel in a specific amount of time.

b. What features of the graph help you to determine if the

relationship is proportional?

.....................................................................

» The line always passes through the origin,

» The rate of change will be equal to the

» The equation of the line will be

..................................................
...................

of proportionality, k.
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Ex. Use the formula

k :% to determine
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the rate of change.
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For 1-2, complete the graph, find the rate of change, and write the equation for each situation.

1. An ATV travels 25 miles each hour, where x
is the number of hours and y is the total miles.

rate of
change:

equation:

2. The number of cars, x, is proportional fo the
number of wheels, y.
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a. Find the rate of change.

3. Sandra plots the points (0, 0) and (5, 10) on a graph to represent a proportional relationship.

b. Write an equation to represent the relationship.
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In 4-7, use your knowledge of proportiondl relationships to answer each question.

4. Use the information in the table to complete the graph 100
and answer the questions. %0 I
| | #OF BOXES e Ll B R ey = HH H
70
C ( # oF BaNDAGES | 24 | 36 | 60 | 84 © 6 0 L
—— . BERNAE
i i B
s e
rate of change: 2 ] |
i0 |
; |
equation: 7 3 4§ 5 67 8 91
5. A farmer is plowing his cornfields. The relationship 200
between x, the hours driving the plow, and y, the number Z 180 L’
of rows of corn plowed, is shown in the graph at the right. & 160
: 8 140
a. What does the point (0, 0) represent? O 120
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b. Choose an ordered pair to find the constant of f 0 '1
proportionality. A0 //
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6. Patricia is asked fo determine if the statements below represent the graph. Check all that
apply. g
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7. A representation of a proportional relationship is shown below. sz_E -..-
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. Sketch a graph to represent fhe relationship between fhe ' e i -==== :
group number, x, and the number of counfers, Y- 4l——1 -.-.. r
b. Write an equation to represent the relationship between the Zj:jjq . 60 :.3:
group number, x, and the number of counters, . Ve i 2




